> restart

> Ecua = 2-y(x) (diff (y(x),x) +2) —x (diff (y(x),x)) -2 =0

> Solucion = dsolve(Ecua)

Ecua =2 y(x) (% y(x) +2) —X (%
. 1
Solucion =y(x) =-4x,y(x) =0, y(x) =—
2 2
cl (
> Solucion[1]; Solucion|[ 2 ]; Solucion| 3 ]
y(x)=-4x
y(x)=0
b= L x(-x+2_cI)’
2 2 -x+2 CI
I -————m+2
o (= 2
> SolucionParticular = subs(_C1 =2, Solucion[3])
SolucionParticular .= y(x) = (-x+4

> restart

x(-x+2 CI)?

-x+2

> Ecua = diff (y(x),x) — y(x) =0

X

Ecua =

> SolucionGeneral = dsolve(Ecua)

SolucionGeneral .= y(x)

d
dx

y(x) —

y(x) ~0

X

Clx

| > restart
>Ecua‘=( 2l +L+ )-i—(
sqrt(x--2 +y(x)--2) X y(x) sqrt(x--2 +y(x)--2)
iy T, =0
y(x)--2
Ecua:= = - % - (lx) — [ o (lx)
i x4y’ g V7
| > with(DEtools) :
> Tipo = odeadvisor(Ecua)
i Tipo := [ _exact]
X 1 1
> M:= - 4+ —
sqrt(x--2 +y--2) * X + h%
Cox 11
i x2 —|—y2 X Y
L y 1 X
> N:= +— -
sqrt(x--2 +y--2) y y--2
B y 1 X
N:= — =
2 2 4 b%
X +y

0y

2

(€))

(C))

(6))

6

@)

®

®

(10)



IntMx = int(M, x)
IntMx =~/ ¢ +y2 +In(x) + i

DerlntMxY = diff (IntMx, y)

DerlntMxY := —r %
J X —|—y2 y
SolucionGeneral = IntMx + int( (N — DerIntMxY),y) =C[1]
SolucionGeneral :=+/ ¢ +y2 +In(x) + x4 In(y) =C,
Y

Ecua
G (iy(x))=0
,X2 +y(x)2 X y(X) /xz +y(x)2 Y(x) y(X) dx

SolGral = dsolve(Ecua)

SolGral :=+/ ¥ -1—y()c)2 +In(x) + y(x—x) +In(y(x)) + CI=0

DerEcua = isolate( Ecua, diff (y(x), x))

DerEcua = % y(x)=

Pyl YWy’
DerSolGral := isolate(diff (SolGral, x), diff (y(x), x))
; (= ] T ) s
DerSolGral = . y(x)= u
YV (0 p(x) = (07

Comprobacion = simplify(rhs(DerEcua) — rhs(DerSolGral)) =0
Comprobacion :=0=0

restart
Ecua == (2:x-y(x)--2 =3-y(x)--3) + (7 =3-xy(x)--2)-diff (y(x), x) =

0
Ecua :=2xy(x)2 —?;y()c)3 + (7 —3xy(x)2) (i (x)) =0
with(DEtools) :

Tipo = odeadvisor(Ecua)
Tipo := [ _rational]

intfactor(Ecua)
1
y(x)?
Factint = Lz
y
Factint = €

2
y

M==2xyz—3y3

an

(12)

13)

(14)

15)

(16)

a7

(18)

19)

(20)

€3y

(22)

M



M:=2 xy2 -3 y3
N:=17-3x)
Ni=-3x)"+7
CompUno = simplify(diff (M, y) — diff (N, x)) =0
CompUno :=4xy—6y2=0
MM = simplify(M-Factint)

MM:=2x—-3y
NN := expand(N-Factlnt)
NN :=-3x+ lz
y

CompDos = simplify(diff (MM, y) — diff (NN, x)) =0
CompDos :=0=0

SolGral = int(MM, x) + int( (NN — diff (int(MM, x),y)),y) =C[1]
SolGral := x* —3xy— 7z =C,

y
2 7
SG=x"—3xyx)-—— =C,
y(x)
7
SG:=x"—3xy(x) — =C
y(x) ) 1
DerSG := isolate(diff (SG, x), diff (y(x)
DerSG :% (x) = 2x+3y(x)
-3x+ 5
y(x)

DerEcua = isolate( Ecua, diff (y(x), x))
B 2 3
DerEcua .= — y(x) = Zxy(x)”+ 3)/2()6)
dx 7—3xy(x)

CompTres = simplify(rhs(DerSG) — rhs(DerEcua)) =0
CompTres :=0=0

restart
Ecua == (3-y(x)--2—x) + (2-y(x)--3 —6-xy(x))-diff (v(x),x) =

Ecua:=3y(x)2—x+ (2y(x) —6xy(X)) (%y( )) =0
with(DEtools) :

Tipo = odeadvisor(Ecua)
Tipo := [ [ _homogeneous, class G], rational]

intfactor(Ecua)

Factlnt :=
(*—x) (P +x)

Factlnt ==
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> M:=3y2—x
M:=3y2—x

> N:= 2y3 —6xy
i N = 2y3 —6xy
> ComprUno = simplify(diff (M, y) — diff (N, x)) =0
i ComprUno :=12y=0
(> MM := M-Factint

3y"—x
MM =
I (7 =) (0 +x)
> NN := N-FactInt
NN = 2y —6xy

I (Vy =x) (P +x)
> ComprDos = simplify(diff (MM, y) — diff (NN, x)) =0
i ComprDos :=0=0
> SolGral = int(MM, x) + int( (NN — diff (int(MM, x),y)),y) =C[1]
SolGral := -1In( —y2 +x) +2 ln(y2 +x) =C,

>
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